5. Richten Sie sich mit den Lochern des Sitzes aus und ziehen Sie dann die Schrauben fest. (Achtung: Schrauben Sie 50% fest)
6. Richten Sie sich mit den Léchern des Ruckens aus und ziehen Sie dann die Schrauben fest. (Achtung: Ziehen Sie die Schrauben nicht
vollstandig an, bis sie alle in der richtigen Position fixiert sind.)

7. Setzen Sie die M5 * 8-Schraube durch das Loch von R1 & R2 und ziehen Sie sie fest, dann setzen Sie die Kappe auf.

8. Setzen Sie die M5 * 8-Schraube durch das Loch von L1 & L2 und ziehen Sie sie fest, dann setzen Sie die Kappe auf.

9. Befestigen Sie die Kopfstutze und das Lendenkissen.
Funktionen:

A. Heben Sie den Knopf an der Seite der Armlehne an, um die Hohe einzustellen, und heben Sie die gewunschte Position an.

B. Heben Sie den Griff an,um ihn zurtickzulehnen,und lassen Sie ihn in jede gewunschte Position los.Rasten Sie die Ruckenlehne auf, wenn
Sie sie in ihre normale Position zuruckstellen. Andernfalls kann die Rtickenlehne schnell zurtickspringen.

C. (1) Ziehen Sie den Hebel nach oben, um die Hoheneinstellung vorzunehmen.
(2) Zum Verriegeln eindrticken, zum Entriegeln der Neigung des Stuhls herausziehen.

D. Stellen Sie den Neigungswinkel mit dem Neigungsspannungsknopf unter dem Sitz ein. Drehen Sie ihn im Uhrzeigersinn, um den Winkel zu
verringern, gegen den Uhrzeigersinn, um den Winkel zu vergrof3ern.

(FR) Instructions d'assemblage

1. Placer la base du fauteuil a l'envers. Insérez l'extrémité de la piece J1 dans J2 et fixez-la avec des vis M6+ 20.

2. Insérez les roulettes dans le dessous de la base. Installer le vérin a gaz et insérer le couvercle du verin a gaz.

3. Installez le mécanisme et les accoudoirs. Nota: NE PAS serrez les vis compléetement tant que toutes les vis ne sont pas correctement fixées.

4. Placez le siege sur le vérin a gaz.

5. Aligner F&M avec les trous du sieége, puis serrer les vis. (Nota: Visser a 50%) .

6. Aligner F&M avec les trous du dossier, puis serrer les vis. (Nota: NE PAS serrez les vis complétement tant que toutes les vis ne sont pas

correctement fixées. )

7. Mettez la vis M5« 8 a travers le trou de R1 & R1 et serrez, puis mettez le cache.

8. Mettez la vis M5+ 8 dans le trou de L1 et L2 et serrez-la, puis mettez le cache.

9. Fixez l'appui-téte et le coussin lombaire.
Fonctions:

A. Soulevez le bouton situé sur le coté du bras pour régler la hauteur du bras, levez ou abaissez a la position souhaitée.

B. Soulevez la poignée pour l'incliner et relachez-la dans la position souhaitée. Lorsque vous revenez a la position normale,reposez-vous sur le
dossier, sinon le dossier pourrait rebondir rapidement.

C. (1) Tirez le levier vers le haut pour obtenir le réglage en hauteur. (2) Appuyez pour verrouiller,tirez pour déverrouiller l'inclinaison du fauteuil.

D. Réglez l'angle d’inclinaison avec le bouton de tension-inclinaison situé sous le siege. Tournez-le dans le sens des aiguilles d'une montre pour
diminuer l'angle, dans le sens contraire pour l'augmenter.

(1) Istruzioni di montaggio

1. Capovolgere la base della sedia. Inserire la punta della parte J1in J2 e fissarla con viti M6 x 20.

2. Inserire la ruote nella parte inferiore della base. Installare la barra di pressione e inserire il coperchio del pistone a gas.

3. Installare il meccanismo e i braccioli. Attenzione: Non serrare completamente le viti finche tutte le viti non sono state fissate nella posizione
corretta.

4. Posizionare il sedile sulla barra di pressione.

5. Allineare con il foro del sedile, quindi stringere le viti. (Nota: stringere il 50%)

6. Allineare f-m al foro nella parte posteriore, quindi stringere le viti. (Nota: stringere completamente tutte le viti fino a quando non sono fissate
nella posizione corretta.)

7. Passare la vite M5 « 8 attraverso i fori in R1 e R1 e stringerla, quindi mettere sul coperchio.

8. Passare la vite M5 = 8 attraverso i foriin L1 e L2 e stringerla, quindi mettere sul coperchio.

9. Installare i cuscini per la testa e la vita.

Funzioni:

A. Sollevare il pulsante sul lato del braccio per regolare l'altezza del braccio, alzare o abbassare nella posizione desiderata.

B. Sollevare la maniglia per reclinare e rilasciarla in qualsiasi posizione desiderata. Riposizionare lo schienale quando si ripristina la posizione
normale, altrimenti lo schienale potrebbe rimbalzare rapidamente.

C. (1)Tirare verso l'alto sulla leva per ottenere la regolazione in altezza.(2) Premere per bloccare, estrarre per sbloccare l'inclinazione della sedia.

D. Regolare l'angolo di inclinazione con la manopola di inclinazione-tensione sotto il sedile. Giralo in senso orario per diminuire l'angolo, in
senso antiorario per aumentare l'angolo.

®

1. Coloque la base de la silla boca abajo. Inserte la punta de la pieza J1 en J2 y fijela con tornillos M6 x 20.

2. Inserte las ruedas en la parte debajo de la base. Instale el cilindro de elevacion de gas e inserte la cubierta de elevacion de gas.

3. Instale el mecanismo y los apoyabrazos. Atencion: No apriete los tornillos completamente hasta que todos los tornillos estén fijos en la
posicion correcta.

4. Coloque el asiento en el elevador de gas.

5. Alinee f & m con los orificios del asiento, luego apriete los tornillos. (Atencion : Tornillo 50% apretado)

6. Alinee f & m con los orificios de la parte posterior, luego apriete los tornillos. (Atencion : Apriete todos los tornillos completamente hasta que
queden fijos en la posicion correcta.)

7. Coloque el tornillo M5 = 8 a través del orificio de R1y R1y apriete, luego coloque la tapa.

8. Coloque el tornillo M5 « 8 a través del orificiode L1y L2 y apriete, luego coloque la tapa.

9. Coloque el reposacabezas y la almohada lumbar.

Funktionen:

A. Levante el boton al lado del brazo para ajustar la altura del brazo, levantelo o bajelo para ajustar hasta la posicion optima.

B. Levante la manilla para reclinar y suéltela en cualquier posicion deseada. Soporte en el respaldo cuando quiere volver el respaldo a su
posicion normal, o el respaldo podria rebotar rapidamente.

C. (1)Levante la manilla para ajustar la altura. (2)Presione para bloquear, tire hacia afuera para desbloquear la inclinacion de la silla.

D. Ajuste el angulo de inclinacion con el pomo debajo del asiento. Girelo hacia la derecha para disminuir el angulo, hacia la izquierda para
aumentar el angulo.

Dear Customer,

Thank you for choosing us.
We appreciate your trust in us and value your business.
Please feel free to email us directly if you have immediate feedback or

concerns about your purchase. We'll reply within 24 hours.

At GTPLAYER, we're always working hard to provide higher quality products
and service for our customers by listening to buyers' comments and concerns.
Our customers also rely on reviews from insightful people such as yourself to
decide which of our products is right for them.

If you have a moment to spare, please leave us a feedback or review.

It's a very quick and easy way for you to make a difference in how we provide
services for customers around the world.

We would really appreciate the help if you have the time, but totally
understand if not.

Either way, we look forward to serving you again in the future.

If you have any further questions, please do not hesitate to contact our

customer service for help.

GTPL,  YER

E-mail: info@gtplayerchair.com

Best regards

GTPL,/  YER

® Assembly Instructions

@ Montageanleitung

@ Instructions d'assemblage

@ Istruzioni di montaggio

GTPL,  YER

E-mail: info@gtplayerchair.com

Best regards

( Version 21.10.1]




ASSEMBLY INSTRUCTIONS ASSEMBLY INSTRUCTIONS

O /I Check Various Accessories
Details of accessories

® MECHANISM

gtplayer.com gtplayer.com

@ PACKAGE CONTENTS

Back X1
Seat X1
Mechanism 1
Gas Lift Cover 1
Headrest 1

@ PACKUNGSINHALT
A

Lehne (X1) Dossier (X1)
Sitz (X1)
Kippmechanismus (X1)
Gasdruckfederabdeckung  (X1)
Kopfstiitze (X1)
Winkeleinsteller (X1)

A

B Siege (X1)
C

D

E

F

(c} Rollen (X5)
H

I

J

K

L

M

\|

Align@&@ with the holes of seat, then Mécanisme D’ Inclinaison (x1)

tighten screws.

Align @&@® with the holes of back, then

Please check and ensure the things are in the package. tighten screws.

You can contact us for help if something is not included. Couvercle De Vérin (X1)

Coussin De téte (X1)

Angle Adjustor 1
Caster )
Wrench 1
Armrest 2

Réglage de I’ angle (X1)
Roues (X5)

G)GAS LIFT COVER  ®HEADREST @) ANGLE ADJUSTOR @) CASTER (® WRENCH

8 g L % 5

57

Innensechskantschlissel (X1)
Armlehnen (X2)
Gestell (X1)
Lendenstiitze (X1)
Gasdruckfeder (X1)
Verbinder (X1)

Seitenabdeckung (X4)

Schrauben und Abdeckkappen,
wie dargestellt

Clés Hexagonales (X1)
Accoudoirs (X2)
Base (X1)
Coussin Lombaire (X1)
Vérin a Gaz (X1)
Raccord (X1)

Couvercles Latéraux (X4)
Vis et Bouchons, tels quaffichés

Base 1
Lumbar Pillow 1

Gas Lift X1
Connector X1

[T ® m5*8  4pcs)
|7 @ M8*20 12pcs]
[T @ M8*25 8pcs|
¥ © M6*20 2pcs]
=06 CAP  4pcs |

@ BASE (3 LUMBAR PILLOW @ GAS LIFT @ CONNECTOR

2 < rR~-=IOCmTMTmMmUON®>P>

)
)
)
)
)
)
)
)
)
)
)
)
)
)

22 -rAR-“=wIGOTMMUONw

Dust Cover
Screws and Caps,as shown

@ CONTENUTO DELLA CONFEZIONE

A Schienale
Sedile

Tighten all the screws completely until
they are fixed in the correct position.

Please keep the original box incase you might need to
return or replace the prouct.

O 2 Instructions Before Using
Chair of Installation

Respaldo

®

Screw 50% tight

Asi
Insert the casters into the bottom of the base. siento

Place the chair base upside down. Insert the

Put M5*8 screw through the hole of @& ®

Install @& ® with M5* 8 screw , then put the

Mecanismo de inclinacion

tip of the part@into Qand fix with M6*20
screws.

Install gas lift and insert gas lift cover.

cap on.

Meccanismo di reclinazione
Copertura pistone a gas

Cubierta de elevacion de gas

Poggiatesta Almohada de cabeza

Regolatore d'angolo Regulador de angulo

Ruote Ruedas
Chiavi a brugola Llaves hexagonales

Braccioli Reposabrazos

Base Base

Cuscino lombare Almohada lumbar

Cilindro pistone a gas Cilindro De Elevacion De Gas

Connettore Conector

2 2 r R-=TIT OMMmMmQYyONww
Z2 < r R-“=IOMMmMmQYyONnw?)»

Coperture laterali Cubiertas laterales

Viti e tappi, come illustrato Tornillos y tapas, como se muestra

Functions

Lift up the button on the side of the arm to adjust the arm height, raise or lower @ Assembly Instructions
to the desired position.
1.Place the chair base upside down. Insert the tip of the part J1 into J2 and fix with M6+20 screws.
. Insert the casters into the bottom of the base. Install gas lift and insert gas lift cover.
. Install the mechanism and armrests.
. Place the seat on the gas lift.
. Align f &m with the holes of seat, then tighten the screws.(Attention: Screw 50% tight)
2 @ Height . Align f &m with the holes of back, then tighten the screws. (Attention: Tighten all the screws completely until them are fixed in the
. . . g Adiustment correct position.)
© © Pull upward on lever to achieve height adjustment. J . Put M5« 8 screw through the hole of R1 & R1 and tighten, then put the cap on.
® Push in to lock, pull out to unlock the tilt of the chair. . Put M5+ 8 screw through the hole of L1 & L2 and tighten, then put the cap on.
9. Attach the headrest & lumbar pillow.
Functions
. Lift up the button on the side of the arm to adjust the arm height, raise or lower to the desired position.
. Lift the handle to recline and release it to any desired position.Rest on the backrest when resetting back to its normal position,
otherwise the backrest may rebound rapidly.
. (1) Pull upward on lever to achieve height adjustment.  (2) Push in to lock, pull out to unlock the tilt of the chair.
Frequently Asked Questions: . Adjust the tilt angle with the tilt-tension knob underneath the seat. Turn it clockwise to decrease the angle, counterclockwise to

J _ increase the angle.
Montageanleitung

DO NOT tighten screws completely until all the screws
are fixed in the correct position. 1. Kehren Sie das Gestell nach oben. Setzen Sie die Spitze des Teils J1in J2 ein und befestigen Sie es mit M6 = 20 Schrauben.
2. Setzen Sie die Rollen in die Unterseite des Gestelles ein. Installieren Sie die Gasdruckfeder und weiter die Gasdruckfeder Abdeckung.
3. Montieren Sie den Mechanismus und die Armlehnen. Beachtung: Ziehen Sie die Schrauben erst dann fest an, wenn alle Schrauben in der
richtigen Position fixiert sind.
4, Setzen Sie den Sitz auf die Gasdruckfeder.

@ Place the seat on the gas lift. @ Lift the handle to recline and release it to any desired position. Rest on the back

when resetting back to its normal position, otherwise the back may rebound rapidly.

@ it Function

@ Adjust the tilt angle with the tilt—tension knob underneath the seat. Turn it clockwise
to decrease the angle, counterclockwise to increase the angle.

Q: Why do | hear a creaking sound after using it for a period of time? @
A: The mechanism may not fit the seat base. If you hear a creaking sound, please remove the mechanism and
reassemble again. Please ensure all the screws are securely tightened.

GTPL YER

NOTE:Assembly is recommended to be carried out by two people.

. . N : : , ; E-mail: info@gtplayerchair.com
Preventing the screws from loosening requires tightening after using a period of time.




